How could I solve this number sentence?

8+2=

What could T use to help me?




How could I solve this humber sentence?

10+7

What could T use to help me?




How could I solve this humber sentence?

14-6

What could T use to help me?




How could I solve this humber sentence?

20-10

What could T use to help me?
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@ OO @ Canyou helpme colour the picture matching the
colour to the number.

1 = brown 2= orange 3= red
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Activity:

Colour in the picture the colour that matches the

numbers.

Christmas Addition and Subtraction

Solve the calculations to work out what colour each part of the images should be.

1 = brown

2 = orange

3 =red

4 = dark blue

5 = green

6 = white

7 = purple

8 = light blue

9 = pink

10 = yellow
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